
PHYS 342 (Spring 2023) Test 2, V1 Name:

Multiple choice (5 pts each) – circle the correct answers.

1. Suppose the 4 electrons in Be all have the same ms = 1/2. Which is the lowest energy
allowed configuration under this condition?

(a) 1s4

(b) 1s22s2

(c) 1s2s2p2

(d) 1s2s2p3s

2. A particle moves in 1D. For x < 0, the potential energy is 0. For x > 0, the potential
energy is 1 eV. If the particle has a total energy of 10 eV, which statement(s) are
correct?

(a) the wave function is discontinuous at x = 0.
(b) the de Broglie wavelength for x < 0 is greater than that for x > 0.
(c) for x > 0, the wave function exponentially decreases towards ∞: ψ(x) = Ae−κx.
(d) for x < 0, the wave function exponentially decreases towards −∞: ψ(x) = Aeκx.
(e) none of the above are correct.

3. For this question, don’t worry about the spin of the electron. Circle all of the impossible
states of hydrogen (n, l,ml).

(a) (5, 0, 0) (b) (2, 1,−1) (c) (5, 5, 2)
(d) (3, 2, 3) (e) (1, 0, 0) (f) (50, 3, 0)

4. The 3
1H2 nucleus has a half life of 12 years. You make one 3

1H2 when you are 25 years
old. How old will you be when it radioactively decays?

(a) 37 years old
(b) 49 years old
(c) 61 years old
(d) When it decays can not be predicted.
(e) none of the above

5. A hydrogen atom in its ground state absorbs a photon and goes to a free electron and
proton. The minimum photon energy for this process is 13.6 eV. For the same process
in muonic hydrogen (a bound muon and proton in the ground state absorbs a photon
and goes to a free muon and proton), what is the minimum photon energy required?

(a) more than 13.6 eV.
(b) less than 13.6 eV.
(c) 13.6 eV.



Problems: Show all work to receive full credit.
Fundamental constants (e, h, masses, etc) are top of the equation page.

1.10 pts 8
4Be4 decays by emission of an alpha particle. a) What is the total energy released? b)
What is the speed of the alpha particle?

2.10 pts A hydrogen atom in the ground state starts at rest where the magnetic field points in
the z-direction with magnitude 2.00 T. The magnetic field gives an interaction energy
of U = −µ⃗ · B⃗. It accelerates to a spot 1 cm away where the magnetic field points in
the z-direction with a magnitude 2.60 T. a) What is the value of the spin magnetic
quantum number? b) What is the kinetic energy of the hydrogen atom?



3.10 pts In an atom, there are two electrons with ms = 1/2. One is in the 2p state and the
other is in the 3d state. a) What is the total number of two electron states with these
conditions? b) Suppose the two angular momenta add to give a total orbital angular
momentum L. What are the allowed values of L? c) How many states are there for
each L?

4.10 pts A proton is fired directly at a 235
92U143 nucleus. What minimum energy does the proton

need to reach the nucleus?



5.15 pts A particle of mass m experiences a potential which is U(x) = U0 > 0 for x < 0 and
U(x) = −U0 for x > 0. For −U0 < E < U0, determine the wave function for all x.
(Hint: you should probably break it up into a solution for x < 0 and a solution for
x > 0; then use the correct rules to connect the two pieces.)



g = 9.80 m
s2

h = 6.63×10−34 J s = 4.14×10−15 eV s h̄ = h
2π

c = 3.00×108 m
s

Melec = 9.11× 10−31 kg Mprot = 1.67× 10−27 kg Mmuon = 1.88× 10−28 kg

1.60× 10−19 J = 1 eV e = 1.60× 10−19 C 1/(4πε0) = 8.99× 109 N m2/C2








